Potencias de 10 (D)

Calcule los siguientes productos y cocientes.

7,646 < 100

1,501 = 100

2,449 + 100

9,555+ 100

1,357 x 100

7,453 =100

7,75 =100

8,391 x 100

3,968 = 100

6,161 =100

2,902 x 100

0,214 x 100

1,525-+100

2,098 =100

7,659 x 100

1,401 = 100

3,928 x 100

0,41+ 100

1,879 = 100

1,666 x 100
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Potencias de 10 (D) Respuestas

Calcule los siguientes productos y cocientes.

7,646 x 100
764,6
1,501 = 100
0,01501
2,449 = 100
0,02449
9,555+ 100
0,09555
1,357 x 100
135,7
7,453+ 100
0,07453
7,75+ 100
0,0775
8,391 x 100
839, 1
3,968 = 100
0,03968
6,161+ 100
0,06161

2,902 x 100
290,2

0,214 x 100
21,4
1,525 100
0,01525
2,098 = 100
0,02098
7,659 x 100
765,9
1,401 = 100
0,01401
3,928 x 100
392,8
0,41+ 100
0,0041
1,879 = 100
0,01879

1,666 x 100
166,6
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